SuMPO SuMPO EPD
VEPD s jummss (erp)
EixES ¢ JR-BW-25001E-A
AESHEFHAS4

, Ltd)

(N|ppon Electric Glass Co.

BEH(
g1l mdprh
BEXMRERE
=23 L Ll

FEMRERE. R EOEX, HamhihE

SUMPORIESAIVTOT S s
— AL EIE AT AT IR EHEERE
R TFREXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label jp

X F AMEERIEATR T7A4T75M4R®

(Heat-resistant crystallized glass for fire door / FireLite®)

EHRES JR-BW-25001E-A
EAPCRES  PA-171190-BW-02

PCR% MIASR (PR [F2kR]
NEGI= 202548 1H

RIEEHEE 2025418308

REEA = 1B M AIIREE S =

RIALES JV-BW-25001

MREFE#hHEART 2030418298

RO, TELHK T PCRLE1-DEHE
FERWUETM A KREBZRES BESHAFES SEHZ% 20234 98 1H
HMOEH F5 53U £EEE LE &
R0 1mbLIOEE #911ke (— A FEAY AT F IR E e M)
SROMIAE HRAENT EoHRIAE
UROBE EEH NEPIRELE B EZ
1ISO140258 & UISO21930I > AT E RO T-I DI L
MR EE
e CES
*YAT LR ER B EENORIEDSEE L. VAT LRI EIT>EBEEED
L FEDH,
FWEhHEE
BABSHEFERAESHT IYV1-V-HIAEXEI RERIESP

TEL:077-537-1744 FAX : 077-534-2387

E#FES © JR-BW-25001E-A



SUMPORIESAINTOTS L

5“"’"’0 SuMPO EPD — R EIE A Y AT IR B
.. FA4TNIEBIEEE (EPD) BT AR A 1-14-8
VERIFIED KANDA SQUARE GATE
E#&E=S © JR-BW-25001E-A https://ecoleaf-label.jp
OF1 TV IV EFMmER
0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 43.0 | kg-COzeq b
[izgex|d 0.031 | kg-SO2eq b
ERHE 0.0098 | kg-Sheq
HAL [RHOHRE mA2 THFTOEHZ
o E 1HH B &5 Al BEROFE A2 Tszcomz|A3 RIORE
SURZH) kg-CO.eq | 4.3E+01 3.1E+01 2.1E-02 1.2E+01
AV EHEE kg-CFC-11eq| 3.4E-05 2.6E-05 2.8E-13 7.9E-06
[k |4 kg-SOzeq | 3.1E-02 2.1E-02 6.9E-05 9.2E-03
W ARUEE kg-SOzeq | 1.9E-02 1.3E-02 2.6E-05 5.3E-03
FHALFZAFIT Vb kg-C-Hseq | 5.3E-04 3.9E-04 1.5E-07 1.4E-04
BEEFEYEFENAM) kg-CsHeeq | 2.1E-02 2.1E-02 1.0E-07 3.2E-04
BEEFEYME (BN kg-CeHeeq | 6.9E-03 6.9E-03 6.7E-08 4.3E-05
KEERESME kg-CeHeeq | 9.6E+00 || 9.6E+00 3.3E-09 1.3E-02
B4 RES M kg-CeHeeq | 2.4E+02 2.4E+02 5.5E-08 2.7E-01
EREL kg-PO.*eq| 8.2E-05 8.1E-05 2.1E-13 7.7E-07
=+ HuF) AR (HERS) m?*/ 5 9.8E-01 8.8E-01 1.7E-03 9.7E-02
T A (RE) m?/ 5 6.1E-03 4.0E-03 3.5E-05 2.1E-03
EREE kg-Sbeq 9.8E-03 9.7E-03 8.7E-08 7.7E-05
O RUMEIBIT SRS
IHH BifiL mE-HE ERHY) HifiL
FEERREER 6.8E+00 kg Si02, Al203. Li20 58 %
FEERRIIY- 1.6E+01 kg zZ0fth (H3AALYEE) 40 %
FEBEAREIRIY- 7.3E+02 MJ Wart 2 %
BEARER 2.9E+00 kg
BAERTREIRILY - 1.0E+02 MJ
WRIKDEE 7.8E-01 m?
HEi, CO2(Mb B EIRm®), AR, F45E | 4.0E+01 kg
R, B, 44.7M/kg, BEH, EEATRI ALY~ | 2.8E+00 kg
P, BRUEERAAY, X5, FEE | 9.3E-07 kg

@EESEYIBEER

= B
EEREY 0.0E+00 kg
BERZEY 9.2E+00 kg
—REEY EIIY 1.4E-10 kg
EXFEZREY 1819 9.2E+00 kg

KIMTPIWICBEIBREMBERLTVET,



AAAAA S4TINEBIEEE (EPD) ST R EXAME1-14-8

SUMPOBERIESANINTOI T
SEMFP;)D SuMPO EPD A IR AT ST S S
o. ..

VERIFIED KANDA SQUARE GATE
B8%&F= © JR-BW-25001E-A https://ecoleaf-label jp

GOEEERICET2EMEHR
IXNF-EROEETE. 838MIEBYET

©-1.ZDftDIREREIEER
ISO140018E TH CEELTVNET, TRLE—ERE

o 100 200 300 400 500 600 700 800 900

WIFETHEL R LY —  WHETHLFILF—

BE, IRNF-FERONRIE, L&Y

©-2.EEYMHEICRAIS1ER
15H CAS No. ESE

DFERALEZRT-IDEZA

IDEA ver.3.1.0%{EA L,

®fiE%
2025/12/23% % © FEEKRICISO21930E MO R HRNAB 1128

O -FEENA L. PCRELVEE - EERZESRL UL,
OLLRIIDOVNTE BEE - EERBICRESNRBEH/LLISHECLHEHONIE A,
(BERSEURL : https://ecoleaf-label jp/regulation/)
F#xE\ES ¢ JR-BW-25001E-A



